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Answers

1. A

2. C

3. C

4. B

5. B

6. C

7. C

8. D

9. A

10. D

11. D

12. B

Determine which letter best represents the missing fact from the fact family.

1) 13 + 61 = 74

61 + 13 = 74

74 - 13 = 61

74 - 61 = 13

A. 74 - 61 = 13

B. 61 - 74 = 13

C. 74 - 61 = 61

D. 135 - 13 = 122

2) 242 + 453 = 695

453 + 242 = 695

695 - 242 = 453

695 - 453 = 242

A. 242 + 695 = 453

B. 696 - 453 = 243

C. 695 - 453 = 242

D. 453 - 695 = 242

3) 7 + 2 = 9

2 + 7 = 9

9 - 7 = 2

9 - 2 = 7

A. 7 + 9 = 2

B. 11 - 7 = 4

C. 9 - 2 = 7

D. 2 - 9 = 7

4) 34 + 62 = 96

62 + 34 = 96

96 - 34 = 62

96 - 62 = 34

A. 158 - 34 = 124

B. 96 - 62 = 34

C. 97 - 62 = 35

D. 96 - 34 = 34

5) 721 + 164 = 885

164 + 721 = 885

885 - 721 = 164

885 - 164 = 721

A. 164 + 885 = 721

B. 885 - 164 = 721

C. 164 - 885 = 721

D. 722 + 164 = 886

6) 4 + 16 = 20

16 + 4 = 20

20 - 4 = 16

20 - 16 = 4

A. 20 + 16 = 36

B. 16 + 20 = 4

C. 20 - 16 = 4

D. 36 - 4 = 32

7) 46 + 32 = 78

32 + 46 = 78

78 - 46 = 32

78 - 32 = 46

A. 78 - 46 = 46

B. 78 - 32 = 32

C. 78 - 32 = 46

D. 46 + 78 = 32

8) 214 + 702 = 916

702 + 214 = 916

916 - 214 = 702

916 - 702 = 214

A. 917 - 702 = 215

B. 702 + 916 = 214

C. 702 - 916 = 214

D. 916 - 702 = 214

9) 15 + 5 = 20

5 + 15 = 20

20 - 15 = 5

20 - 5 = 15

A. 20 - 5 = 15

B. 21 - 5 = 16

C. 15 + 20 = 5

D. 5 + 20 = 15

10) 47 + 13 = 60

13 + 47 = 60

60 - 47 = 13

60 - 13 = 47

A. 47 + 60 = 13

B. 73 - 47 = 26

C. 61 - 13 = 48

D. 60 - 13 = 47

11) 523 + 425 = 948

425 + 523 = 948

948 - 523 = 425

948 - 425 = 523

A. 425 + 948 = 523

B. 948 + 425 = 1373

C. 425 - 948 = 523

D. 948 - 425 = 523

12) 4 + 1 = 5

1 + 4 = 5

5 - 4 = 1

5 - 1 = 4

A. 6 - 4 = 2

B. 5 - 1 = 4

C. 5 - 1 = 1

D. 5 - 4 = 4
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